Bull. Korean Math. Soc. ${\bf 52}$ (2015), No. 6, pp. 1819–1826 http://dx.doi.org/10.4134/BKMS.2015.52.6.1819

ON A MULTI-PARAMETRIC GENERALIZATION OF THE UNIFORM ZERO-TWO LAW IN L^1 -SPACES

FARRUKH MUKHAMEDOV

ABSTRACT. Following an idea of Ornstein and Sucheston, Foguel proved the so-called uniform "zero-two" law: let $T: L^1(X, \mathcal{F}, \mu) \to L^1(X, \mathcal{F}, \mu)$ be a positive contraction. If for some $m \in \mathbb{N} \cup \{0\}$ one has $||T^{m+1}-T^m|| < 2$, then

$$\lim_{n \to \infty} \|T^{n+1} - T^n\| = 0.$$

There are many papers devoted to generalizations of this law. In the present paper we provide a multi-parametric generalization of the uniform zero-two law for L^1 -contractions.

1. Introduction

Let (X, \mathcal{F}, μ) be a measure space with a positive σ -additive measure μ . In what follows, for the sake of shortness, we denote by L^1 the usual $L^1(X, \mathcal{F}, \mu)$ space associated with (X, \mathcal{F}, μ) . A linear operator $T : L^1 \to L^1$ is called a *positive contraction* if $Tf \geq 0$ whenever $f \geq 0$ and $||T|| \leq 1$.

Jamison and Orey [7] proved that if P is a Markov operator recurrent in the sense of Harris, with σ -finite invariant measure μ , then $||P^ng||_1 \to 0$ for every $g \in L^1$ with $\int g \ d\mu = 0$ if (and only if) the chain is aperiodic. Clearly, when the chain is not aperiodic, taking f with positive and negative parts supported in different sets of the cyclic decomposition, we have $\lim_{n\to\infty} ||P^nf||_1 = 2||f||_1$.

Ornstein and Sucheston [13] obtained an analytic proof of the Jamison-Orey result, and in their work they proved the following theorem [13, Theorem 1.1].

Theorem 1.1. Let $T: L^1 \to L^1$ be a positive contraction. Then either

(1.1)
$$\sup_{\|f\|_1 \le 1} \lim_{n \to \infty} \|T^{n+1}f - T^n f\| = 2$$

or $||T^{n+1}f - T^nf|| \to 0$ for every $f \in L^1$.

This result was later called a *strong zero-two law*. Consequently, [13, Theorem 1.3], if T is ergodic with $T^*\mathbf{1} = \mathbf{1}$ (e.g. T is ergodic and conservative),

O2015Korean Mathematical Society

Received February 20, 2014; Revised August 20, 2015.

 $^{2010\} Mathematics\ Subject\ Classification.\ 47A35,\ 17C65,\ 46L70,\ 46L52,\ 28D05.$

 $Key\ words\ and\ phrases.$ multi parametric, positive contraction, "zero-two" law.

then either (1.1) holds, or $||T^ng||_1 \to 0$ for every $g \in L^1$ with $\int g \, d\mu = 0$. Some extensions of the strong zero-two law can be found in [2, 17, 21].

Interchanging "sup" and "lim" in the strong zero-two law we have the following *uniform zero-two law*, proved by Foguel [5] using ideas of [4] and [13].

Theorem 1.2. Let $T: L^1 \to L^1$ be a positive contraction. If for some $m \in \mathbb{N} \cup \{0\}$ one has $||T^{m+1} - T^m|| < 2$, then

$$\lim_{n \to \infty} \|T^{n+1} - T^n\| = 0.$$

A "zero-two" law for Markov processes was proved in [3], which allowed to study random walks on locally compact groups. Other extensions and generalizations of the formulated law have been investigated by many authors [4, 6, 10, 18, 20]. In all these investigations, the generalization was in direction replacement of the L^1 -space by an abstract Banach lattice (see [8, 11, 15, 16, 18]). In [12] we have proposed another kind of generalization of the uniform zero-two law in L^1 -spaces.

In this paper we continue the previous investigations and prove a multiparametric generalization of the uniform "zero-two" law in L^1 -space. Note that a different kind of generalization of the said law is given in [8, 15, 19].

2. Preliminaries

In this section, we provide necessary facts which will be used in the next section.

Let $T, S: L^1 \to L^1$ be two positive contractions. We write $T \leq S$ if S - T is a positive operator. In this case we have

$$||Sx - Tx|| = ||Sx|| - ||Tx||$$

for every $x \ge 0$. Moreover, for a positive operator $T: L^1 \to L^1$ from $|Tf| \le T(|f|)$ we obtain

(2.2)
$$||T|| = \sup_{\|x\|=1} ||Tx|| = \sup_{\|x\|=1, x \ge 0} ||Tx||.$$

In [12] we have proved the following:

Theorem 2.1 ([12]). Let $T_1, T_2, S_1, S_2 : L^1 \to L^1$ be positive contractions such that $T_i \leq S_i$, i = 1, 2 and $S_1S_2 = S_2S_1$. If there is an $n_0 \in \mathbb{N}$ such that $||S_1S_2^{n_0} - T_1T_2^{n_0}|| < 1$, then $||S_1S_2^{n_0} - T_1T_2^{n_0}|| < 1$ for every $n \geq n_0$.

From this theorem we immediately get a simple generalization of a result of [20, Theorem 1.1].

Corollary 2.2. Let $Z, T, S : L^1 \to L^1$ be positive contractions such that $T \leq S$ and ZS = SZ. If there is an $n_0 \in \mathbb{N}$ such that $||Z(S^{n_0} - T^{n_0})|| < 1$, then $||Z(S^n - T^n)|| < 1$ for every $n \geq n_0$.

Putting Z = I we obtain the result of [20].

Corollary 2.3 ([20]). Let $T, S : L^1 \to L^1$ be positive contractions such that $T \leq S$. If there is an $n_0 \in \mathbb{N}$ such that ||S - T|| < 1, then $||S^n - T^n|| < 1$ for every $n \geq 1$.

Let us provide an example of Z, S, T positive contractions for which the statement of Corollary 2.2 holds, but the condition of Corollary 2.3 is not satisfied.

Example. Consider \mathbb{R}^2 with the norm $\|\mathbf{x}\| = |x_1| + |x_2|$, where $\mathbf{x} = (x_1, x_2)$. An order in \mathbb{R}^2 is defined as usual, namely $\mathbf{x} \ge 0$ if and only if $x_1 \ge 0$, $x_2 \ge 0$. Now define mappings $T : \mathbb{R}^2 \to \mathbb{R}^2$ and $S : \mathbb{R}^2 \to \mathbb{R}^2$, respectively, by

(2.3)
$$S(x_1, x_2) = \left(\frac{1}{2}x_1 + \frac{1}{3}x_2, \frac{1}{2}x_1 + \frac{1}{3}x_2\right)$$

(2.4)
$$T(x_1, x_2) = \left(\frac{1}{4}x_2, 0\right).$$

It is clear that S and T are positive and $T \leq S$. Let us define $Z : \mathbb{R}^2 \to \mathbb{R}^2$ by

(2.5)
$$Z(x_1, x_2) = \left((1-c)x_1 + \frac{2c}{3}x_2, cx_1 + \frac{3-4c}{3}x_2 \right),$$

where $c \in (0, 3/4]$.

Then one can see that Z is positive and ZS = SZ. Moreover, one has

$$\begin{aligned} \|Z\| &= \sup_{\substack{\|\mathbf{x}\|=1\\\mathbf{x}\geq 0}} \|Z\mathbf{x}\| &= \max_{\substack{x_1+x_2=1\\x_1,x_2\geq 0}} \left\{ (1-c)x_1 + \frac{2c}{3}x_2 + cx_1 + \frac{3-4c}{3}x_2 \right\} \\ &= \max_{0\leq x_1\leq 1} \left\{ \frac{2c}{3}x_1 + \frac{3-2c}{3} \right\} \\ &= 1. \end{aligned}$$

Similarly, we find that ||S|| = 1 and ||T|| = 1/4. From (2.3), (2.4) one gets

(2.6)
$$\|S - T\| = \sup_{\substack{\|\mathbf{x}\| = 1 \\ \mathbf{x} \ge 0}} \|(S - T)\mathbf{x}\| = \max_{0 \le x_1 \le 1} \left\{ \frac{7x_1 + 5}{12} \right\} = 1,$$

(2.7)
$$\|S^2 - T^2\| = \sup_{\substack{\|\mathbf{x}\|=1\\\mathbf{x}\geq 0}} \|(S^2 - T^2)\mathbf{x}\| = \max_{0\leq x_1\leq 1} \left\{\frac{5x_1 + 10}{18}\right\} = \frac{15}{18}.$$

Similarly, from (2.5), (2.3), (2.4) we obtain

(2.8)
$$||Z(S-T)|| = \sup_{\substack{\|\mathbf{x}\|=1\\\mathbf{x}\geq 0}} ||Z(S-T)\mathbf{x}|| = 1 - \frac{c}{3} < 1.$$

Consequently, we have positive contractions T and S with $S \ge T$ such that ||S - T|| = 1, $||S^2 - T^2|| < 1$. This shows that the condition of Corollary 2.3 is not satisfied, but due to Corollary 2.2 we have $||Z(S^n - T^n)|| < 1$ for all $n \ge 1$.

First note that for any $x, y \in L^1$ using the pointwise minimum one defines,

(2.9)
$$x \wedge y = \frac{1}{2}(x + y - |x - y|).$$

It is well-known (see [2, p. 11], [9, pp. 159–160]) that for any linear mapping Sof L^1 one can define its modulus by

(2.10)
$$|S|x = \sup\{Sy: |y| \le x\}, x \in L^1, x \ge 0.$$

It is known that |S| is linear, ||S|| = ||S||, and $|Sf| \le |S|(|f|)$ (see [9, pp. 159– 160]).

Hence, similarly to (2.9) for given two linear mappings S, T of L^1 we define

(2.11)
$$(S \wedge T)x = \frac{1}{2}(Sx + Tx - |S - T|x), \ x \in L^{1}.$$

It is immediate (using the linearity of the modulus) that $S \wedge T$ is linear, and easy to show that $S, T \ge S \land T$. One needs to show that if $R \le S$ and $R \le T$, then $R \leq S \wedge T$ (see [2, pp. 14–15]).

A linear operator $Z: L^1 \to L^1$ is called a *lattice homomorphism* whenever $Z(x \lor y) = Zx \lor Zy$ (2.12)

holds for all $x, y \in L^1$. One can see that such an operator is positive. Note that such homomorphisms were studied in [14].

Recall that a net $\{x_{\alpha}\}$ in L^1 is order convergent to x, denoted $x_{\alpha} \rightarrow^o x$ whenever there exists another net $\{y_{\alpha}\}$ with the same index set satisfying $|x_{\alpha} - x| \leq y_{\alpha} \downarrow 0$. An operator $T: L^1 \to L^1$ is said to be order continuous, if $x_{\alpha} \to^o 0$ implies $Tx_{\alpha} \to^o 0$.

Lemma 2.4 ([12]). Let S, T be positive contractions of L^1 , and Z be an order continuous lattice homomorphism of L^1 . Then one has

(2.13)
$$Z|S-T| = |Z(S-T)|.$$

Moreover, we have

(2.14)
$$Z(S \wedge T) = ZS \wedge ZT.$$

In what follows, an order continuous lattice homomorphism $Z: L^1 \to L^1$ with $||Z|| \leq 1$, is called a lattice contraction.

3. A multi-parametric generalization of the zero-two law

In this section we prove a multi-parametric generalization of the uniform zero-two law for positive contractions on L^1 .

Let us first introduce some notations. Denote $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. For any $\mathbf{m} = (m_1, \ldots, m_d), \mathbf{n} = (n_1, \ldots, n_d) \in \mathbb{N}_0^d \ (d \ge 1)$ we define in the usual way, $\mathbf{m} + \mathbf{n} = (m_1 + n_1, \dots, m_d + n_d), \ \ell \mathbf{n} = (\ell n_1, \dots, \ell n_d), \ \text{where} \ \ell \in \mathbb{N}_0.$ We write $\mathbf{n} \leq \mathbf{k}$ if and only if $n_i \leq k_i$ $(i = 1, 2, \dots, d)$. We denote $|\mathbf{n}| := n_1 + \dots + n_d$.

Let us formulate our main result.

Theorem 3.1. Let $Z : L^1 \to L^1$ be a lattice contraction. Assume that $T_k : L^1 \to L^1$ (k = 1, ..., d) are positive contractions such that such that $ZT_i = T_iZ$, $T_iT_j = T_jT_i$, for every $i, j \in \{1, ..., d\}$. If for some $\mathbf{m} \in \mathbb{N}_0^d$, $\mathbf{k} \in \mathbb{N}_0^d$ one has $\|Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}} - \mathbf{T}^{\mathbf{m}})\| < 2$, then for any $\varepsilon > 0$ there are $M \in \mathbb{N}$ and $\mathbf{n}_0 \in \mathbb{N}_0^d$ such that

$$||Z^{M}(\mathbf{T}^{\mathbf{n}+\mathbf{k}}-\mathbf{T}^{\mathbf{n}})|| < \varepsilon \quad for \ all \quad \mathbf{n} \ge \mathbf{n}_{0}.$$

Here $\mathbf{T}^{\mathbf{n}} := T_{1}^{n_{1}} \cdots T_{d}^{n_{d}}, \ \mathbf{n} = (n_{1}, \dots, n_{d}) \in \mathbb{N}_{0}^{d}.$

Proof. Due to the assumption one can find $\delta > 0$ such that $||Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}-\mathbf{T}^{\mathbf{m}})|| = 2(1-\delta)$. Let us first prove that

(3.1)
$$||Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}} - \mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})|| < 1.$$

Assume that $||Z(\mathbf{T^{m+k}} - \mathbf{T^{m+k}} \wedge \mathbf{T^m})|| = 1$. Then (2.2) implies the existence $x \in L^1$ with $x \ge 0$, ||x|| = 1 such that

$$\|Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}-\mathbf{T}^{\mathbf{m}+\mathbf{k}}\wedge\mathbf{T}^{\mathbf{m}})x\|>1-\frac{\delta}{4},$$

which with (2.1) yields that $||Z\mathbf{T}^{\mathbf{m}+\mathbf{k}}x|| > 1 - \delta/4$ and $||Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})x|| < \delta/4$. From the commutativity of \mathbf{T} and Z we get $||Z\mathbf{T}^{\mathbf{m}}x|| > 1 - \delta/4$.

Due to Z being a lattice contraction (see (2.14)), one has

$$|Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}-\mathbf{T}^{\mathbf{m}})|=Z\mathbf{T}^{\mathbf{m}+\mathbf{k}}+Z\mathbf{T}^{\mathbf{m}}-2Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}\wedge\mathbf{T}^{\mathbf{m}}).$$

Hence, the last equality with (2.11) implies that

$$\begin{aligned} \left\| |Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}} - \mathbf{T}^{\mathbf{m}})|x| \right\| &= \|Z\mathbf{T}^{\mathbf{m}+\mathbf{k}}x\| + \|Z\mathbf{T}^{\mathbf{m}}x\| - 2\|Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})x\| \\ &> 1 - \frac{\delta}{4} + 1 - \frac{\delta}{4} - 2 \cdot \frac{\delta}{4} \\ &= 2\left(1 - \frac{\delta}{2}\right). \end{aligned}$$

This with the equality

$$\left\| |Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}-\mathbf{T}^{\mathbf{m}})| \right\| = \|Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}-\mathbf{T}^{\mathbf{m}})\|,$$

contradicts to $||Z(\mathbf{T}^{\mathbf{m}+\mathbf{k}}-\mathbf{T}^{\mathbf{m}})|| = 2(1-\delta/2).$

Due to (see [19, p. 310]) for $\mathbf{T}^{\mathbf{k}}$ there is $\gamma > 0$ such that

(3.2)
$$\left\| \left(\frac{I + \mathbf{T}^{\mathbf{k}}}{2} \right)^{\ell} - \mathbf{T}^{\mathbf{k}} \left(\frac{I + \mathbf{T}^{\mathbf{k}}}{2} \right)^{\ell} \right\| \leq \frac{\gamma}{\sqrt{\ell}}.$$

Let $\varepsilon > 0$ and fix $\ell \in \mathbb{N}$ such that $\gamma/\sqrt{\ell} < \varepsilon/4$. From (3.1) according to Corollary 2.2 we have

(3.3)
$$\left\| Z(\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} - (\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})^{\ell}) \right\| < 1.$$

Hence,

$$\left\| Z \left(\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} - \left(\frac{I + \mathbf{T}^{\mathbf{k}}}{2} \right)^{\ell} (\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})^{\ell} \right) \right\|$$

$$= \left\| Z \left(\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} - \frac{1}{2^{\ell}} \sum_{i=0}^{\ell} {\ell \choose i} \mathbf{T}^{i\mathbf{k}} (\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})^{\ell} \right) \right\|$$

$$\leq \frac{1}{2^{\ell}} \sum_{i=0}^{\ell} {\ell \choose i} \| Z (\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} - \mathbf{T}^{i\mathbf{k}} (\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})^{\ell}) \|$$

$$\leq \frac{1}{2^{\ell}} \| Z (\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} - (\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})^{\ell}) \| + \frac{1}{2^{\ell}} \sum_{i=1}^{\ell} {\ell \choose i}$$

$$(3.4) \qquad < \frac{1}{2^{\ell}} + \frac{1}{2^{\ell}} \sum_{i=1}^{\ell} {\ell \choose i} = 1.$$

Define

$$\mathbf{Q}_{\ell} := \mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} - \left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell} (\mathbf{T}^{\mathbf{m}+\mathbf{k}} \wedge \mathbf{T}^{\mathbf{m}})^{\ell}$$

and put $\mathbf{V}_{\ell}^{(1)} = (\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} \wedge \mathbf{T}^{\mathbf{m}})^{\ell}$. Then $\|\mathbf{V}_{\ell}^{(1)}\| \leq 1$, since $\mathbf{V}_{\ell}^{(1)} \leq \mathbf{T}^{\mathbf{m}\ell}$. Moreover, one can see that

$$\mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})} = \left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell} \mathbf{V}_{\ell}^{(1)} + \mathbf{Q}_{\ell}.$$

Now for every $d \in \mathbb{N}$, define

$$\mathbf{V}_{\ell}^{(d+1)} = \mathbf{T}^{\ell(\mathbf{m}+\mathbf{k})}\mathbf{V}_{\ell}^{(d)} + \mathbf{V}_{\ell}^{(1)}\mathbf{Q}_{\ell}^{d}.$$

Then by induction one can establish (see [19]) that

(3.5)
$$\mathbf{T}^{d\ell(\mathbf{m}+\mathbf{k})} = \left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell} \mathbf{V}_{\ell}^{(d)} + \mathbf{Q}_{\ell}^{d}$$

for every $d \in \mathbb{N}$.

Due to Proposition 2.1 [20] one has

$$(3.6) \|\mathbf{V}_{\ell}^{(d)}\| \le 2$$

for all $d \in \mathbb{N}$.

It follows from (3.4) that $||Z\mathbf{Q}_{\ell}|| < 1$, therefore there exists $M \in \mathbb{N}$ such that $||(Z\mathbf{Q}_{\ell})^{M}|| < \varepsilon/4$. So, commutativity Z and T implies that $Z\mathbf{Q}_{\ell} = \mathbf{Q}_{\ell}Z$, which yields that $||Z^{M}\mathbf{Q}_{\ell}^{M}|| < \varepsilon/4$. Put $\mathbf{n}_{0} = M\ell(\mathbf{m} + \mathbf{k})$, then from (3.5) with (3.2), (3.6) we obtain

$$\begin{aligned} \|Z^{M}(\mathbf{T}^{\mathbf{n}_{0}+\mathbf{k}}-T^{\mathbf{n}_{0}})\| &= \left\|Z^{M}\left(\mathbf{T}^{\mathbf{k}}\left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell} - \left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell}\right)\mathbf{V}_{\ell}^{(d)} \\ &+ Z^{M}(\mathbf{T}^{\mathbf{k}}\mathbf{Q}_{\ell}^{M}-\mathbf{Q}_{\ell}^{M})\right\| \\ &\leq \left\|\left(\mathbf{T}^{\mathbf{k}}\left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell} - \left(\frac{I+\mathbf{T}^{\mathbf{k}}}{2}\right)^{\ell}\right)\mathbf{V}_{\ell}^{(M)}\right\| \end{aligned}$$

THE ZERO-TWO LAW

$$+ \|Z^{M} \mathbf{Q}_{\ell}^{M} (\mathbf{T}^{\mathbf{k}} - 1)\| \\ \leq 2 \cdot \frac{k\gamma}{\sqrt{\ell}} + 2 \cdot \frac{\varepsilon}{4} < \varepsilon.$$

Take any $\mathbf{n} \geq \mathbf{n}_0$, then from the last inequality one finds

$$\begin{aligned} \|Z^{M}(\mathbf{T}^{\mathbf{n}+\mathbf{k}}-\mathbf{T}^{\mathbf{n}})\| &= \|\mathbf{T}^{\mathbf{n}-\mathbf{n}_{0}}Z^{M}(\mathbf{T}^{\mathbf{n}_{0}+\mathbf{k}}-\mathbf{T}^{\mathbf{n}_{0}})\| \\ &\leq \|Z^{M}(\mathbf{T}^{\mathbf{n}_{0}+\mathbf{k}}-\mathbf{T}^{\mathbf{n}_{0}})\| < \varepsilon \end{aligned}$$

which completes the proof.

Remark 3.2. The proved theorem is a multi-parametric generalization of the main result of [12]. Hence, it generalizes all main results of [3, 4, 6, 13, 20].

We remark that in the spacial case Z = I Theorem 3.1 yields a multidimensional extension of Foguel's result [5]. Namely, we have:

Theorem 3.3. Let T_1, \ldots, T_d be commuting positive contractions of L^1 . If there exist \mathbf{m} and \mathbf{k} in \mathbb{N}_0^d such that $\|\mathbf{T}^{\mathbf{m}+\mathbf{k}} - \mathbf{T}^{\mathbf{m}}\| < 2$, then for any $\varepsilon > 0$ there exists $\mathbf{n}_0 \in \mathbb{N}_0^d$ such that

$$\|\mathbf{T}^{\mathbf{n}+\mathbf{k}}-\mathbf{T}^{\mathbf{n}}\|<\varepsilon \quad for \ all \ \mathbf{n}\geq\mathbf{n}_0.$$

Corollary 3.4. Let $T, S : L^1 \to L^1$ be two commuting positive contractions. If for some $k, m_0 \in \mathbb{N}$ one has $||T^{m_0+k}S^{m_0} - T^{m_0}S^{m_0}|| < 2$, then

$$\lim_{n,m\to\infty} \|T^{n+k}S^m - T^nS^m\| = 0.$$

The proof immediately follows from Theorem 3.3 if one takes $\mathbf{m} = (m_0, m_0)$ and $\mathbf{k} = (k, 0)$.

Remark 3.5. It is clear that if for commuting T and S contractions of L^1 one has $\lim_n ||T^n - T^{n+k_1}|| = 0$ and $\lim_n ||S^n - S^{n+k_2}|| = 0$ for some $k_1, k_2 \in \mathbb{N}$, then

$$\lim_{\min(n,m)\to\infty} \|T^n S^m - T^{n+k_1} S^{m+k_2}\| = 0.$$

Remark 3.6. Since the dual of L^1 is L^{∞} then due to the duality theory the proved Theorem 3.1 holds true if we replace L^1 -space with L^{∞} .

Acknowledgement. The author acknowledges the MOHE Grant FRGS14-135-0376. He also thanks the Junior Associate scheme of the Abdus Salam International Centre for Theoretical Physics, Trieste, Italy. Finally, the author is grateful to an anonymous referee for his useful suggestions which improved the presentation of this paper.

1825

FARRUKH MUKHAMEDOV

References

- M. Akcoglu and J. Baxter, Tail field representations and the zero-two law, Israel J. Math. 123 (2001), 253–272.
- [2] C. D. Aliprantis and O. Burkinshaw, Positive Operators, Springer, 2006.
- [3] Y. Derriennic, Lois "zéro ou deux" pour les processes de Markov, Applications aux marches aléatoires, Ann. Inst. H. Poincaré Sec. B 12 (1976), no. 2, 111–129.
- [4] S. R. Foguel, On the "zero-two" law, Israel J. Math. 10 (1971), 275–280.
- [5] _____, More on the "zero-two" law, Proc. Amer. Math. Soc. 61 (1976), no. 2, 262–264.
 [6] _____, A generalized 0-2 law, Israel J. Math. 45 (1983), no. 2-3, 219–224.
- [7] B. Jamison and S. Orey, Markov chains recurrent in the sense of Harris, Z. Wahrsch. Verw. Geb. 8 (1967), 41–48.
- [8] Y. Katznelson and L. Tzafriri, On power bounded operators, J. Funct. Anal. 68 (1986), no. 3, 313–328.
- [9] U. Krengel, Ergodic Theorems, Walter de Gruyter, Berlin, 1985.
- [10] M. Lin, On the "zero-two" law for conservative Markov operators, Z. Wahrsch. Verw. Geb. 61 (1982), no. 4, 513–525.
- [11] _____, The uniform zero-two law for positive operators in Banach lattices, Studia Math. 131 (1998), no. 2, 149–153.
- [12] F. Mukhamedov, On dominant contractions and a generalization of the zero-two law, Positivity 15 (2011), no. 3, 497–508.
- [13] D. Orstein and L. Sucheston, An operator theorem on L_1 convergence to zero with applications to Markov operators, Ann. Math. Statist. **41** (1970), 1631–1639.
- [14] H. H. Schaefer, Banach Lattices and Positive Operators, Springer-Verlag, 1974.
- [15] _____, The zero-two law for positive contractions is valid in all Banach lattices, Israel J. Math. 59 (1987), no. 2, 241–244.
- [16] A. Schep, A remark on the uniform zero-two law for positive contractions, Arch. Math. (Basel) 53 (1989), no. 5, 493–496.
- [17] R. Wittmann, Analogues of the "zero-two" law for positive linear contractions in L_p and C(X), Israel J. Math. 59 (1987), no. 1, 8–28.
- [18] _____, Ein starkes "Null-Zwei"-Gesetz in L_p, Math. Z. **197** (1988), no. 2, 223–229.
- [19] R. Zaharopol, The modulus of a regular linear operator and the 'zero-two' law in L^p -spaces (1 , J. Funct. Anal.**68**(1986), no. 3, 300–312.
- [20] _____, On the 'zero-two' law for positive contractions, Proc. Edinburgh Math. Soc.
 (2) 32 (1989), no. 3, 363–370.
- [21] _____, A local zero-two law and some applications, Turkish J. Math. 24 (2000), no. 1, 109–120.

DEPARTMENT OF COMPUTATIONAL & THEORETICAL SCIENCES FACULTY OF SCIENCE, INTERNATIONAL ISLAMIC UNIVERSITY MALAYSIA P.O. BOX, 141, 25710, KUANTAN PAHANG, MALAYSIA *E-mail address*: far75m@yandex.ru; farrukh_m@iium.edu.my